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QUESTION 1

Which command can be used to create an Oracle ACFS file system resource?

A. crsctl create resource -t filesystem -f /deviasm/ -m /

B. srvctl add filesystem -m / -d /dev/asm/

C. asmcmd fscreate - - resource ACFS mount / -- file/dev/asm/

D. srvctl create resource -fs/dev/asm/ -mount /

E. SQL > alter system add filesystemdevice = “/dev/asm/\\'mount_dir = "A\’;

Correct Answer: B

QUESTION 2

The exhibit describes an Oracle Clusterware startup.

- - .
= =

cssdagent orarootagent

oraagent

cssdmonitor

Which item is missing?
A. ohasd

B. ocssd

C.crsd

D. octssd

E. osysmond

F. oraagent

Correct Answer: A
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QUESTION 3

Which statement about Oracle Flex ASM is incorrect?

A. Oracle Flex ASM enables an Oracle ASM instance to run on a separate physical server from the database servers.
B. With Flex ASM, a smaller pool of ASM instances can be used to serve a large pool of database servers.

C. Flex ASM requires the configuration of Flex Clusters.

D. Flex ASM can be configured on either a standard cluster or a Flex Cluster.

E. Higher availability can be achieved with Flex ASM because if an ASM instance fails, its clients can reconnect to
another ASM instance

Correct Answer: C

QUESTION 4

Which two components are required to set up a SCAN listener for your customer\\'s 12cR1 RAC environment?
A. 3 virtual IP addresses on the same subnet DB

B. 3 private IP addresses on the same subnet

C. 3 private IP addresses on different subnets

D. One single name that resolves to 3 1Pv4 or 1Pv2 addresses

E. One single name that resolves to 3 1Pv6 or 1Pv4 addresses

Correct Answer: AE

QUESTION 5

Which statement about multipathing is incorrect?

A. Multipathing solutions provide failover by using redundant physical path components

B. Multipathing is a software technology implemented at the operating system device level

C. Multipathing improves system performance by distributing the 1/0 load across all available paths.

D. Multipathing is automatically configured when Oracle ASM discovers multiple paths to the same disk space.

Correct Answer: D

QUESTION 6

Which statement about the AU_SIZE disk group attribute is incorrect?
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A. It specifies the size of the allocation unit for a disk group.

B. It can be changed at any time for any disk group.

C. You can view the value of this attribute in the ALLOCATION_UNIT_SIZE column of the V$ASM_DISKGROUP view
D. The default size is 1 MB.

Correct Answer: B

QUESTION 7

The Free server pool contains servers that are not assigned to any other server pools. Which two attributes of the free
server pool can be edited by the user?

A. SERVER_NAMES
B. MIN_SIZE

C. MAX_ZIZE

D. IMPORTANCE

E. ACL

Correct Answer: DE

QUESTION 8

A node is evicted from a three-node cluster due to poor latency of the underlying storage Which two statements are
correct in describing the instance recovery process?

A. Perform a restore of archive redo from flash recovery area to recover database
B. Upon startup, the SMON/LMS processes perform instance crash recovery.

C. Upon startup of failed instance, the SMON process performs instance crash recovery by using checkpoints to
determine which data needs to be append to data files.

D. User intervention is not required.

E. Upon startup, PMON (process monitor) performs instance crash recovery automatically User intervention is not
required

Correct Answer: CD

QUESTION 9
Which new syntax has been introduced in ASM release 12cR1?

A. Alter diskgroup DATA replace disk data_0001 with \\'/dev/disk02\\’;
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B. Alter diskgroup DATA offline quorum disk data_0001 drop after 1 m;
C. Alter diskgroup DATA set ownership owner = oracle for file \\/dev/disk02\\';
D. Alter diskgroup DATA drop disk \\'/dev/disk02\\' force;

Correct Answer: A

QUESTION 10

Under which condition can Oracle Automated Storage Management (ASM) be considered to be a component of the
Oracle Clusterware technology stack?

A. Oracle Cluster Registry (OCR) is stored on Oracle ASM

B. Oracle Local Registry (OLR) is stored on a clustered file system (OCFS/ACFS/DBFS)
C. Both Oracle Cluster Registry and Oracle Local Registry are stored on Oracle ASM

D. Oracle ASM can never be considered a component of Oracle Clusterware

E. Oracle ASM can be considered a component of Oracle Clusterware technology stack only when deployed on
engineered systems such as Exadata or Oracle Database Appliance

Correct Answer: A

QUESTION 11

Oracle 12cR1 Flex Cluster introduces a new topology, which allows for a higher level of scalability. Which four
statements accurately describe the new topology\\'s properties?

A. Hub and Leaf topologies allow tightly and loosely coupled server membership
B. Hub and Leaf topologies support implicit Server Pools.
C. Leaf servers are standard as in previous versions.

D. Leaf servers are light-weight, no shared storage, no peer-to-peer communication and dedicated to application
service.

E. Hub servers do not support Oracle ASM.
F. Oracle Flex Cluster 12cR1 supports bare metal and OVM servers in common cluster

Correct Answer: ABDF

QUESTION 12
Which three statements accurately describe the components of the Cluster Ready Services Technology Stack?

A. Cluster Ready Services (CRS): A specialized oraagent process that helps CRSD manage resources owned by root
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such as the network, and the Grid virtual IP address

B. Cluster Synchronization Services (CSS):Manages the cluster configuration by controlling which nodes are members
of the cluster and by notifying members when a node joins or leaves the cluster

C. Cluster Time Synchronization Service (CTSS): A background process that publishes events that Oracle Clusterware
creates.

D. Event Management (EVM). Provides time management in a cluster for Orade Clusterware

E. Grid Naming Service (GNS): Handles requests sent by external DNS servers, performing name resolution for names
defined by the cluster.

F. Oracle Agent (oraagent): This process was known as RACG in Oracle Clusterware 11gR1 (11.1).

Correct Answer: BEF

QUESTION 13

In a clustered Oracle ASM environment, a diskgroup is mounted in restricted mode. Which statement is correct?
A. You can mount the disk group on all the nodes.

B. You can issue any command, as long as you are using the force option.

C. You can open the database located on this disk group only in standalone mode.

D. You can open the database on this disk group only in restricted mode.

E. You know that nobody is using the disk group, so you can perform a fast rebalancing on the disk group.

Correct Answer: E

QUESTION 14

The customer is still not convinced about the advantages of using node VIPs. Which is the most important point that will
convince him about why VIPs are used in Oracle RAC 12cR1 environments?

A. Itis very convenient as whenever a node/interface/network related to the node VIP fails, the VIP can fail to another
node and the failed over VIP can start accepting connections from the new node avoiding connection failures

B. This is needed as whenever a node/interface/network related to the node VIP fails, clients that attempt to connect to
the VIP address receive a rapid connection-refused error instead of waiting for TCP connect timeout messages. This
helps for a quicker failure detection and resolution

C. It is needed as whenever the node/interface/network related to the VIP fails, nothing happens and node VIP never
fails to any other node and stays stable

D. Configuring VIP is optional and not needed in an Oracle RAC 12cR1 configuration.

Correct Answer: A

170-432 VCE Dumps | 1Z20-432 Study Guide | 1Z0-432 Braindumps 6/7


https://www.passapply.com/1z0-432.html
https://www.passapply.com/1z0-432.html
https://www.passapply.com/1z0-432.html

VCE & PDF https://www.passapply.com/1z0-432.html
2024 Latest passapply 120-432 PDF and VCE dumps Download
PassApply.com

QUESTION 15

Which two statements about the Grid Infrastructure Management Repository are correct?
A. It is a single instance database that is managed by Oracle Clusterware.

B. It is where the Cluster Health Monitor places data.

C. It is created during a \\\\'Typical" installation.

D. Itis stored in the ASM disk group that is used as a Fast Recovery Area.

Correct Answer: BC
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